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Read the following passage and answer the questions from 1 to 5 :
World Distribution of Human Race

All members of a racial group, though each one of us has one head, two arms, two legs, two eyes,
two ears and so on, each one presents a different appearance.

A scientific classification of races should be based on measurable physical features that are
inherited from ancestors. The features considered important for classification of races include - colour
of skin, stature, shape of the head, face, nose, eyes, type of hair, etc.

Skin Colour - Skin colour makes the most apparent difference between people belonging to
different races. On the basis of skin colour, the people of the world are classified as White, Black and
Yellow. White-skinned people are found in North America, black in Africa and yellow in China, Japan
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and Mongolia.

Stature - Stature being an easily measurable character can be used as one of the bases for
classification of human population. Human population on the basis of stature is divided into the group
of short, medium and tall people. Generally people in Europe and North America are tallest and
Mongoloid people are the shortest.

Shape of the Head - Like stature, the shape of the head is a measurable parameter. Long headed
people are found in Europe and North America, while medium to small headed people are found in
Africa and Asia.

Shape of the Nose - Width and height of nose is also an important criterion for identification of
various races. People with long and narrow noses are found in European countries while the Africans
are classified as people with broad noses. The Kajji of the Niger Delta in West Africa are the people
with the broadest noses among the Negroes while the Swedes have the narrowest nostrils

Shape of the Face -The facial appearance of a person is also considered an indicator of his race.
The face may be long or broad. It is generally observed that the faces of the Mongoloid, Chinese and
Polish people are broader while Scandinavians or the Nordic have relatively narrower faces.

Eyes - Colour and form of eyes is an indicator of certain racial groups. People are classified on
the basis of the colour of the eyes as dark-eyed, gray-eyed, or blue-eyed people. Dark-eyed people are
found in Mica, Gray-eyed in Mongolia, China and Japan and Blue-eyed in North America and Europe.

Hair Form and Colour - Form and colour of hair vary from race to race. On the basis of the
form the hair can be classified as straight long hair or short wooly hair and wavy hair. The Caucasoid
people have wavy hair, the Negroid have wooly hair and Mongoloid have straight hair.

9) AR AT O T PV R ?

q) g R) UG 3) rest 8) TEaviia
1)  Which of the following is the skin colour of the Mongolian people ?

1) Yellowish 2) White 3) Black 4) Wheatish
) fafder duht Nesvg Wiefieridhl v frsearer MR Rl A ?

3T) AR Bt g Sl §) eI IMBR B) bl T g) T

qift S :

9) Sheh 37 ST § ) Tth 37 3N § 3) Beh 31, § M P 8) IRt T4

2) Toidentify the different races, which features among the following are considered ?
a) Width and height of nose b) Shape of face  ¢) Colour of hair d) Colour of skin
Answer Options :

1)Onlyaandd 2)Onlyaandb 3)Onlya,bandc 4) All of the above
3) Yt gRAT It e HESIuu HISTHIT RdT I ?

37) I ¥) SIRIET 3BR P) T 9T S) HEmT 3T

it S -

9) %h & 30T P Q) Th 31 MU § 3) Ph 3, M S ¥) Heh &, P 3T S
3)  Which features of the human race are easily measurable ?

a) Height b) Shape of the head  ¢) Skin colour d) Hair colour

Answer Options :

1) Only band c 2)Onlyaandb 3)Only a,bandd 4)Onlyb,candd
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) IWR HREHT Alprdl IR SfuRT gafa faer.
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3) dide Sk, 3ifdp St g STs Har ¥) g AP, PH IA I Dlod] Sl
4)  Which option indicates the features of the North American people ?

1) White-skinned, tallest, long headed and blue-eyed

2) White-skinned, blueeyed and straight-haired

3) Long headed, tallest and wooly hair

4) Broadest nose, shortest and dark-eyed

4) PV AlBIAT AT 3MPR HIST NTSeDA! ?

9) MR g PIchI Q) HMfeR™T g Sut
3) A g Amferas 8) PIBIASRT d ST
5)  Which people have broader faces ?
1) Mongoloid and Caucasoid 2) Mongoloid and Japanese
3) Chinese and Mongoloid 4) Caucasoid and Japanese
Jeid SARTATG TR JTUTRT & o 90 FeAT IR T :
gRashicY wfrger aRom
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RISATR AT RISl AT #iTet.
STARTEHTET e Ugeiges PuIare gutes SIEHITe &Rid THT0T aleel 9 QM A IR FTe Ste!

Read the following passage and answer the questions from 6 to 10 :
Adverse Impacts of Green Revolution

There can be no doubt that the first Green Revolution lifted the country out of a situation
immediately after independence when the prospects of famine and scarcity of food commodities loomed
large. The rapidly expanding population could have made matters all the more worse. It was the Green
Revolution that helped tackle the food security issue with increased agricultural productivity.

However, the Green Revolution did have some adverse impacts too which are being felt in the
long run. Since the emphasis was mainly on cereals like rice and wheat, there was a loss of productivity
as far as pulses, fruits and vegetables were concerned. The present rate of fruit and vegetable production
will not be able to cope with the future demand as the population is increasing rapidly.

Besides, production of the same type of cereals such as rice and wheat year after year gradually
decreased soil fertility making it difficult for pulses and other vegetables to grow. Monoculture (the
cultivation of same crop variety for a prolonged period) also led to breakdown of the plant’s resistance
to pests and diseases which is an unwelcome offshoot of the first Green Revolution.

Another criticism often directed at the first Green Revolution is the indiscriminate use of
fertilizers and pesticides that is today threatening the agri-future of the country. Excessive and
inappropriate use of fertilizers and pesticides led to widespread environmental damage polluting
waterways, poisoning agricultural workers and killing beneficial insects and other wildlife.

The first Green Revolution also did not take care of certain areas like rainfed, hilly, coastal, dry
land and arid zones which could be developed properly for production of exportable items like fruits,
honey, mushroom, milk, meat, etc. Critics of the Green Revolution have also argued that owners of
large farms were the main adopters of new technologies because of their better access to irrigation
water, fertilizers, seeds and credit. Small farmers were either unaffected or harmed because the Green
Revolution resulted in lower product prices, higher input prices and efforts by landlords to increase
rent or force tenants off the land. The Green Revolution also encouraged unnecessary mechanization,
thereby pushing down rural wages and employment.

Faulty irrigation practices also led to salt build-up and eventual abandonment of some of the best
farming lands. Groundwater levels have retreated in areas where more water is being pumped for irrigation
than can be replenished by the rains.

§) ufgedr gRAIId aTefierddh! ot ME Prosoll gdett ATal ?
37) PRSI T 9) fPIRY T %) i SR TR 8) aTsdc! el
IR SR :
9) heh 37 3T & Q) Beh B M 3) eh 31, T MU S ¥) NIt Fa sRISR

6) The first Green Revolution did not take care of which of the following areas ?

a) Rainfed areas b) Coastal areas c¢) Fertile soil areas  d) Arid areas

Answer Options :

1)Only aandc 2)Only cand d 3)Onlya,bandd 4) All of the above
©) ETeiterdd! gRasmict daeft P St sRIeR 3ME?

37) STl FTgr Sl 9) gd ugu

@) Pl AT HIEFRIT BIOTRT fowaren ) SUIh Piehrdl g 3R F-aeiarar g
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9) Wheh 37 3MUT § ) Th & 3TN § 3) Bh § ¥) Theh 3T, & 30T §
7)  Which of the following criticisms of the first Green Revolution islare correct ?

a) Polluting waterways b) Polluting air

c¢) Poisoning agricultural workers d) Killing beneficial insects and wildlife

Answer Options :

1) Only aand b 2)Onlycandd 3)Only b 4)Onlya,candd
¢)  WleiieTddh pIurd /it faem gRahidl deeft aRiex amg 2

37)dliges g g AT ARE! JUI IR SR I,

¥) PSUT, Hhod 3T A ITe /STeTd .

&) HSUR, Hhed g TSI IR TR,

) auHAET 9y ST galedd 8. 8w He.

Tt S :

) heh 3, 9 M1 © ) Bh B 3) Wheh 3 3T & ¥) NIt TG IR
8)  Which of the following statements is/are correct about the Green Revolution ?

a) There was emphasis mainly on cereals like rice and wheat.

b) There was a loss of productivity of pulses, fruits and vegetables.

c) There was emphasis mainly on pulses, fruits and vegetables cultivation.

d) There was a gradual decrease in soil fertility year after year.

Answer Options :

1)Only a,bandd 2) Only c 3)Onlyaandc 4) All of the above
R) BRI PIBId WIeHielddh! DIV /2P0 JATIRUTER $Tetel TRUMH §RIeR 37ed ?

37) ST gehraT ugdt ) ST dred &R ST

P) It TR T STHIAT AT AT ) YoicT Uldis! Wietl Sior

afft S :

9) ek 3 Q) Heh ¥ 3T & 3) Hh O, TS ¥) it Fa sRISR
9)  Which of the following impacts on environment during the Green Revolution idare correct ?

a) Faulty irrigation practices b) Increase of salt in soil

c) Abandonment of some of the best farming lands d) Groundwater levels have retreated

Answer Options :

1)Only a 2)Only bandc 3)Onlya,bandd 4) All of the above
90) Wrelleftdhl Sivr aRumy gRahic) Fael aRIeR 3med ?

37) IEMRT a¥ Uea Uit fiepfdeame STt Gftuemar et gid et

) I i Teea™ weurd 7 i fmfor sags s,

&) Tl dgdige irdr I UfhR & Tice,

Tt S :

9) ek 3 Q) ek 37 3Mfor § 3) Wheh 3F 3T & ¥) NIt TG TR
10) Which of the following adverse impacts of the Green Revolution idare correct ?

a) Production of, same type of cereals year after year decreased soil fertility.
b) Loss of soil fertility made it difficult for pulses and vegetables to grow.

¢) Monoculture led to breakdown of plant’s resistance to pests and diseases.
Answer Options :

1) Only a 2)Only aand b 3)Onlyaandc 4) All of the above
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Read the following passage and answer the questions from 11 to 15 :

‘Communication Technology’ has been the single most important economic force shaping all
societies over thk past half-century with geography; national borders and time zones becoming irrelevant
with ‘the new communication revolution’. In today’s changing world, global electronic commerce is
growing so fast and creating new opportunities for trade that no country can afford to miss it. Such
explosive innovations and developments in science and technology have deeply influenced the direction
and trends in international trade.

The role of international trade in the process of economic development is widely recognized.
International trade brings a variety of static and dynamic gains and thus increases the capacity for
development. Larger the volume of trade, greater is the potential for development. Economic history
tinds success stories of various countries, which were relatively underdeveloped at one time but were
converted to the category of developed countries through foreign trade.

Trade is as old as human society itself, as no man, and more so, no society, can ever be self-
suScient. In ancient times trade was in the form of barter, but afterwards, not only did trade change
from barter to money, but from a stroke of a computer keyboard, people could enter into a transaction
not only in goods and services but also in stocks and bonds, financial lending and national and international
currency dealing from one corner to another corner of the world.

Export promotion being one of the main facets of fast and steady growth, considerable attention
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has been given to export incentives since the nineteen sixties. It has been realized that “export growth
is not a luxury” for India. It is a prerequisite for adequate foreign exchange earnings, to maintain the
tempo of economic development without sacrificing the country’s self-reliance. However, exports can
play an effective role “as an engine of economic growth” in Indian conditions.

Export trade is a vital variable in the Indian economic situation. It plays a paramount role in Indian
economic development. It is indeed exports that activate the use of unexploited natural and human
resources, break the limitations of the domestic market, strengthen and organize the stagnant economy
and minimize the dependence on foreign aid, which, since long is believed to accelerate the pace of
economic transformation.

Exports are a key factor in the development process of any economy. The logical grounds can be
considered in terms of both, the direct and indirect gains of exports in a developing economy like
India.

99) Himferes, T T T FHerRier FRefE A R BRI

) FAIG TATH R) Tt Harg spict 3) Hifed |uSo dFeE 8) St ge
11) Geographical, national borders and time zones are bewming irrelevant because of
1) Communication technology 2) The new wrnmunication revolution

3) Information communication technology 4) Digital tools

92) fIPrATT &HAT WTeteTU<h! PIURAT TCHIAR At A ?

9) IR e R) 3T AR 3) UURE SMHRAM  8) dlerdd! Thal =g
12) The potential of development depends on the

1) Direction of trade  2) Import of trade 3) Volume of trade 4) None of the above

93) UR & AFdl APl sqDd Sl 19 3MMe. PR

q) PR FRgel T Q) R g - 2) RO HAfE SMRd ) | |y Fifid 31g
13) Trade is as old as human society because

1) No one is self-sufficient 2) Greed of development

3) Wants are unlimited 4) Resources are limited

\

9g) HIUD TASTFHS Al ATal & TR $Ho ANl

q) I T |l Q) AFd WEUH WUt 3) A<fiies AU ARl 8) ISR G SRR ger
14) Due to computer technology, people have also entered into the trade of

1) Goods and services 2) Human resources

3) Natural resources 4) National and international currencies
94) IReLSRT I T1E e,

9) Frafa g R) g dASH 3) FarGshid!  8) URPRI ATIR AToT 311ffes fara
15) Choose the appropriate title for the passage.

1) Export Promotion 2) Communication Technology

3) Communication Revolution 4) Foreign Trade and Economic Development

Jeidl SARTATIA WTaR STATR 9§ T 20 FeATe Sax &l :

fafIer ATUFIGR TepTeTr=aT SMeTItaT SIS BT AT, JRA J fHT ¢ JTUhT. FUTE SRAT SUURT HIEH 3T,
3Tdsh 9 dgesh TR U SRRV § IR IRUITIS! TROIJAR ARt S, Meltd 3R AT
3R e Fraar e 3RAd. A 3R g T 3TeR el UM d SRofd UIRR g TR ATH 3R
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3R, Sfgdsh g 3iadsh T T 312 Rl ZATS! TRl SN, aRd 3R g Ui SiaR I TUMhRI
q TR UK g T i oicR oA,

T PRI g AR YaTIR[d fhal HETIRIT Slaichs SMTOT ST Wietlel AISHTY 30T BT,
R IFdleps 3T SFerea aRiet HISTHY U BT, TR SHfRIRT fohdm STaRRr & & P erhl, SrIfeR
TehehId 3. Teh SRR g1 ATHRI IR HIcR ThabIdial UIehR SRdeh SR,

AR 3R fobar 77 g aRqean e faermet Uit fieauaried! amoRet Siar. fdener g it
3MPR 9 TR BRI fhar T 3R 9 TR 3R I ORI, IR g FrEr aR e @
gSlecd, Tolc dscd, Uieiaes o, AR Il ST e, HHRT, quideasi, T geveel, Igwh gerae,
e, T SATCHE Wefl STTl. ATl SlosT & Teb FeIIA IUARYT TR, Heb1el Ulcfos YRUCH, Y05, VeIl
Rz g e RURT g TaaaT R gac], Uikt & IR Sosg Huarl gl SRielel! aTgef! aredre
T PRal. STEeATedT HA FHIRIISH 2Thl SRR foafadsp WhiceHa T 3Rid. Qlac! gelucetiar ared d Jeic
aferT TR g, R SR T gEld oga iR Y |t 3R

R SleTiel IR g fRIfes = gior fehar srereh g1or, T SIfRARY ercht ST fobar @t gror,
g gElYCe IredTeilel 3cR ST febdl hHT 8101, gget fiae febdl oTgi vl UTe THGHSTCIAT, RGEIAT d JEgurd
31 fafdy sroac A TSI, A 3idsp fibar afedsp T aTqRee @ Q1Y G &Rl AT Tbrade! alal
qCdleT JMMesT A, SMMa! forArdi 7T aTiRel ST QrehdTd.

Read the following passage and answer the questions from 16 to 20 :

The wonders of light can be enjoyed in a variety of ways. Mirrors and lenses are part of them.
Plane mirrors are well known to us. Concave and convex mirrors are used to converge and diverge the
light as per need. The focal length of the spherical mirror is half of its radius of curvature. The ratio of
the product and sum of object distance and image distance is the focal length of the mirror. Convex and
concave lenses are also used for the same purpose as above. The ratio of the product and difference of
object distance and 1image distance is the focal length of the lens.

According to new Cartesian sign convention, the measurements towards the left from the pole or
centre and below the axis are taken as negative, while those towards the right and above the axis are
taken as positive. The ability of lenses to converge or diverge is their power in the units of dioptre. One
dioptre is the reciprocal of focal length in metres.

In general, mirrors and lenses are used to obtain a magnified image relative to the object.
Magnification is the ratio of image size to object size or image distance to object distance. Mirrors
and lenses are used in torches and headlights, flood lights, projector lamps, solar devices and furnaces,
cameras, spectrometers, simple microscopes, compound micmscopes, telescopes, spectacles, etc.
The human eye is a natural optical instrument. Light enters the thin cornea, iris, pupil of variable diameter
to control and regulate light with the tendency of adaptation. Behind the pupil there is a biconvex
crystalline lens having the power of accommodation. Finally a real and inverted image is formed on the
retina. The distance of distinct vision is 25 cm from the normal eye.

But various refractive defects like myopia, hypermetropia and presbyopia arise due to non-
relaxation or weak action of ciliary muscles, high or low converging power of lens, increase or decrease
in distance between lens and retina, lengthening or shortening of the eyeball. These defects can be
corrected by using suitable concave or convex lenses. Both the defects may appear simultaneously, in

such cases, bifocal lens should be used.
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9€) TehT GR<IAT ST 3 AHT SRIT W I Fhell BT STAVIAT 37cidsh SRATIRIT 0 JHT SRR St 3.
AT YT Fesaqua RIS SIRAURIT UeaT fobell SfaRTaR SRIaT? oRid Wi SR fapel 2
TS 3R aferET SThR
q) - 30 I + 8.4 Jf
R) - 30 Tt - g.q Jft
3) + 5.4 3 - 30 o)
Q) — 8.y [t + 30
16) Anobject3 cmin size is placed 20 cm in front of a concave mirror of radius of curvature 24 cm.
At what distance from the mirror should a screen be placed in order to obtain a sharp image ?
Also, what is the size of the image ?
Distance of screen  Size of image
1)-30 cm +4.5cm
2)-30cm -4.5cm
3)+4.5cm -30 cm
4)-45cm + 30 cm
q9) GEIT SER AT SR Yo JHY UM Schiea ISR ATHIT orhi fabd sraTet 2
9) 0.02 SRR ?) 0.2 BRITR 3) R SRR ) Q0 SR
17) What focal power should the reading spectacles have for a person for whom the least distance of
distinct vision is 50 cm ?
1) 0.02 Dioptre 2) 0.2 Dioptre 3) 2 Dioptre 4) 20 Dioptre
9¢) TTRKdTe Wieflel SUPRUTHE 3RS g T aTiRel ST, AR Qi GHiehRoT ahl.
i) gseged i) gReeff
iii) Agh gergalt iv) Mo of
V) FeleigcH vi) Qe geHgelt
RS R
) (@), (iv), (v) (i1), (iid), (vi)
?) (iid), (iv), (ii) (@), (vi), (v)
3) (), (i), (vi) (ii1), (i), (V)
8) (i), (iii), (vi) @), @v), (v)
18) In the list of the following instruments, mirrors and lenses are used. Classify them accordingly.
1) Headlights i1) Telescopes
ii1) Compound microscopes 1v) Projection lamps
v) Floodlights vi) Simple micmscopes
Mirrors Lenses
1) (@), (iv), (v) (i), (iid), (vi)
2) (i), (1v), (i) (@), (vi), (v)
3) (), (i), (vi) (ii1), (iv), (V)
4) (i), (iii), (vi) (@), (v), (v)
Q) TPT Shiedl ST SloTl THGRIT d Ioed] SleedTel SRGEIAT QI 3TTed. Tl TSR Iofd d ord fHT
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19) A person whose left eye is myopic and right eye is hypermetropic, his spectacles should have
right and left lenses to be ...... and ...... respectively.
1) convex, bifocal 2) concave, bifocal 3) concave, convex 4) convex, concave

0) 9 fiEft X 9 forfier IRar Faf sRTee PSS, Sl IS Sidw IRTeiedT { T ATy iR
Sfedsp T R |l SicRTa I, &1 e ofieaia aR9 ... MR fezehier.
9) 9o ol X 9o ot ) 90 AR 3) 9o JHK 8) 9 i

20) A card sheet divided into squares, each of size 1 mm X 1 mm is being viewed at a distance of 9 cm

through a convex lens of focal length 9 cm held close to the eye. The squares on the card sheet
will be observed to be of size

D10mmX 10mm  2) 10 mm? 3) 10 cm? 4) 1 mm?

getel SARTAT ITaR STUTRE 29 T 3Y Tere Sox & :

CTeT UG IRUITIIG! Thel Sch® HaT Sald. 9dichdd HIGITDRAT o ST Hed HRald d Palepal
ORUIET Al 3TTed.

FTRUAIHRAT el ifiich HSTIGATS BT PRUTRT I 3Med. SR SigRUT AR STTSid! Jdd ale
I 37T & guiuur uRuep gidTd. Sfia=Ta Tet fAfere d@dt <ifiis STavid UGIuT e a-idcl! HeATdell ARTAI.
HATAT SO g9 3R FEUTId. GeT HTURUMU IR YhReAT JHadIRIT Setel 3. Fald dredl fove
3fagarET e WUl (ea FGAysT @ &1 R e I Sl Golgsl ST, T Aol 3aud e
ST TR G FeUIdTd, S R oifiie S1ayard Ui T Halrar HeadnT g AmGl eifies T ST 3t
3faga™ AMUelel SFdl. SITET €U &1 gcdh IRIAL. STRIAT ST GHT Iieal SR IaR |l =R, A&l fobar
AT 3R 3Tehcl. JepaARIeAT URNIPINIAHE] TRV TR EIdTl. FoR IRYeh WRRTHU 8 SSUT Pafier dred
G ST AT FfShAET URNTRRUT 3R FEUICTT. P&l IRMIBUIAT AR ReAT JGRId BIVIRITC! eNTUIRT aRfRRI
QU P <.

fafaer Sifdep g sRifdep Tcepiear HTETHIGE URNIRUl PaffaR aTge el Il Sifdep HeehHe HUHT,
forca, uefl, acarges, T, U STGET SidHid glal AT STifdes Beeh gar ST ol 37red.

TR ok SfTeRT Hod SRIT thed d SSTURUIBINGT Hewd] 31Te. ITISHI Stafafdecdd Faeu-
RIS STfiery HewaTdl 3Te. ISP TRRIARU FRUMR T SMMOT FARITd FESShici! STelet! MTE. Prat
ITRYAE Urch Aoild Teehid] URRITRUI PRUATBRAT I SGLIehdl SR, el AT IR T8 2rss
ST, JA TRIAEPRUT SR STl ATal, TR IR e JrocdeArdl Ufshar quiuel Uie. Fgu, e a
URTTIERRUT RO TCohidigsl Hau= givl 3Taedd 3Mg. URFIEUTd! Hichal ivfTal RO SRILRT STTeft
R ISTURUT B0 UfhaT e,

Read the following passage and answer the questions from 21 to 25 :

Flowers serve as an excellent offering to God. They are an invaluable aid for personal make-up
and a source of inspiration to poets.

Flowers are the structure of sexual reproduction in plants. After seed germination, the plant grows
continuously to its full maturity. At a certain point in life, the plant switches over to the reproductive
phase and starts bearing flowers. The stalk of the flower is referred to as pedicel. In general, four types
of organs are involved in constituting a flower. The outermost green whorl having sepals is calyx, and
inner to the calyx is a whorl of brightly coloured petals, i.e. corolla. Next to it, the whorl is of stamens
which is collectively called androecium; representing the male sex organs. The centre of the flower is
occupied by carpels, i.e. gynoecium which is represented by the female reproductive whorl. Depending
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on the presence of stamens and carpels, the flower may be a male, female or hermaphrodite flower. In
flowers, pollen grains are produced by stamens in the anther lobe. Then mature pollen grains are
transferred to the stigma leading to successful pollination. The stigma provides required natural
conditions for in-viuo germination of pollen grains.

Various agencies are involved in the transfer of pollen grains to the stigma; they may be biotic or
abiotic. The biotic agencies are bees, insects, birds, bats, ants, animals, etc. and abiotic agencies are
wind and water.

The process of pollination is very basic and important for fruit and seed setting. Likewise, it is
important for the conservation of biodiversity. The pollinators and plants are co-evolved during the
course of evolution. Some species need only biotic agents for pollination without which plants will
become extinct. In the absence of successful pollination, the plant reproduction process will stop
completely. That is why it is necessary to conserve the plants and their pollinators too. If pollination
stops due to any reason, the process of seed setting will cease.

R9) cifieh GocaTEATE AEHRI BIUM=AT Getred fafder seaied) @ieflelieh! i Geifard el AUR F7g7 2
9) Frea ?) T 3) < 8) e

21) As per the involvement of various parts of a flower in the process of sexual reproduction, which
one of the following cannot be neglected ?

1) Sepals 2) Petals 3) Pedicel 4) Stamens
Q) RANGRUTR HeATdT DU FaTd URNTRUT PR PRI BRI HRal ?
9) Pefigd R) Paft 3) diorpra %) GoheR
22) After the transfer of pollen grains, which floral organ acts as a site for pollen tube germination ?
1) Style 2) Stigma 3) Ovary 4) Anther
R3) i FerTeft Ut HeAeR SEIT Gl HE S, diegT pivri fshaT 8 2
) WRAIIHRU R) W 3) gFocareH 8) aRIeIeh! He
23) When honey-bees visit from one flower to another, they carry out the process of
1) Pollination 2) Fertilization 3) Reproduction 4) All of the above
RY) Cifiep gTocdTe dIegrd JeRd! Siet 3R TEUI e, Siegl
q) URNTRUT Sl Peffar Teciiet Q) RuFfrd fiSipIvTg digde
3) B dISTURT Bt 8) Sifde e IRRfieoT AEIRlt 3Rict

24) The process of sexual reproduction is said to be successful only when
1) Pollen grains land perfectly on the stigma  2) The pollen tube reaches the ovary

3) There is formation of seeds in fruit 4) A biotic agency is involved in pollination
RY) TSB! SR I G YRFTTPRUT SRUMAT Thrd! Ihici!

q) T Sl

R) WpHPRIIE el

3) U gl g FaR IRTHRUT HRUMAT Tehid! STelt
¥) T URNfIgRUT IRUMT Tl d Hak a-Rgdidt STeft
25) During the course of evolution, plants and their pollinators evolved
1) Separately 2) Simultaneously
3) Plants first and then pollinators 4) Pollinators first and then plants
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Y3t SARTATIH TR IMYTRA € T 30 T ST &l :
TSt

ARV GTRATAT A1ogran pH 4.€ 3R Al ArAiial H® 3 GOR Siieied] Uit UrodTd g
PRSI GATSS (TR ) JreaTial JfHfhiess.

H,0 (I) + CO, (2) ==H,CO, (aq)
H,CO, (aq) ==H® (aq) + HCO,® (aq)

RITID AT 0T pH 4. € Y&l FHHT SRTAT SATATd STt ot FuIaTd. 3Tt ot 8T e HTd!
fORITITRET aTCTaRl dTeR USUIRIT AeWR d ARG Sfiaviesdl Suuaref 3iTg. SIasUHTral Pleal MMl det
S (SR AT Heean fobat Ugiel STl fegierean I fHevm=ir AehReRIsiaTss d A-gIoH
SRASTATSS JATARATSHROMT STTOT qToarn AR (TEuR TR 8csh STFelds qiR AT, o
ATATS, TTRUAAS!, TS IS B Rep 3T BRI Al I FeTeceh foRgesdd! fohar ggd b,
TSI Al a JSIR FHT0T el IToaRaTer URAweR giRumT dhval. e Sietalieral ST
TSTaTd TelT Fe, Pb 371for Cu @ 2R s)AaTd g fAuam=an goard IaRdld. SHRGT SeTusi = &©R1g gidard, aad
YT qHT T g TR BN, ARATNA ASTHEIATER SFdSges YRUMH HTetell 37T,

Read the following passage and answer the questions from 26 to 30 :
Acid Rain

Normally rainwater has a pH of 5.6 due to the presence of HQ ions formed by the reaction of
rainwater with COz present in the atmosphere.

H,O () + CO, (g) =H,CO, (aq)
H,CO, (aq) ==H®(aq) + HCO,® (aq)

When the pH of the rain dmps below 5.6 it is called acid rain. Acid rain is a by-product of a variety
of human activities that emit the oxides of S and N in the atmosphere. Burning of fossil fuels such as
coal and oil in power stations and furnaces or petrol and diesel in motor engines produce SOz and NOz
after oxidation and their reaction with HzO are major contributors to acid rain. Acid rain is harmful for
agriculture, trees and plants as it dissolves and washes away nutrients needed for their growth. It causes
respiratory ailments in human beings and animals. It affects the aquatic ecosystem. It corrodes water
pipes resulting in the leaching of heavy metals such as Fe, Pb and Cu into the drinking water. Acid water
damages buildings and other structures made up of stone or metal. The Taj Mahal in India has been
affected by acid rain.

R§) TSI SRS U Siegl, pH o e ... 3R

9) .0 ) ¢.3 3) 9.8 %) Y.§ U Y
26) Rainis called acid rain, when its pH value is

1) 7.0 2) 8.3 3)79 4) Less than 5.6
0) HET SAATSESAT UIUITERISR JARATHAT B ... g &

1) HCO, (aq) R) H,CO, (aq) 3) H,CO, (aq) ) H,CO, (aq)

27) When H O (1) reacts with CO, (g) it gives
1) HCO, (aq) 2)H,CO, (aq) 3)H CO, (aq) 4)H.CO, (aq)
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¢) STaTed $U MU U =l Saa Iy ... 2 91 fHesdrd.

9) SO a7fer NO Q) 8023>4Tf3TNO2 3)S 31Tf3TN ) NH33TrfﬁrSO2
28) Burning of fossil fuels and petroleum gives

1) SO and NO 2) SO, and NO, 3)SandN, 4)NH, and SO,
R) IMATSI, FTRUAATS! gIBRD 3T BRI —

q) T 3G Radd Q) IS ¢ TR I BT

3) B 3 Ygg Pleard ) 3releey defia rgdrd
29) Acidrain is harmful to plants because

1) It gives nutrients 2) Nutrients are added as supplement

3) It washes away the nutrients 4) Nutrients will remain as they are
30) YRAKIA dNHEA TR HeAT GRUMTH ST ?

9) g g Q) 3T oI 3) Iad g ) T Ioiyg
30) The Taj Mahal in India has been affected by

1) Heavy rain 2) Acid rain 3) Constant rain 4) Smaller rain

qeleT SARTATET ATaR ST 39 T 34 FeATe Sax a1 -

30T RIARI Al ATST AT3TVT AT ARTUATE fa=icht chett. Fﬁ‘aTﬂic;cgy AR BT, Tl H1SAT TR
9]¢ URIT BT PRI BIclT, TUT SheaRT 9¢l0 HE peieneedT F57H SRTcC 3iith HfSdhel ARae &l
Ih JRACT SRUIIT IhdT - AAGHI IS TRT G&raTT fIHRTT Hi e Hea! did H el hRY JfeswEd egdl.
qr STEEaT 32 Nl I, YuT el Sid araiuarRTe! Skl oiad gil. Hl JeIRIe! PIel ex1d 3R el are
BT 3 W AT fRRel. ' ER, Hell T METE 8 3Ted SiuihRor] Hell SIERST el STfor Ht gre fham
TP T Thed quf & Q.

T T AT R A gegT Wieel ST Hfl IR ATl aR aTeTd FeU WA et TREgeR™ Arsht
TTIAT Vepel! SMMOT faRt TepT AfeRITd R WRA IS, Ahall. 3BT AUV USRSH SFIG! AT
APRUITAT HHETT Ted TRUIT IGHE BT - JuTAT BIcHT Hiaeid T dhel. MR T AT HAT
PIPHITAR ATGUIT DI BT Eclel. el uHRKT Heeield] qRaad T Hed foRgReted Joerd! Ted
Pell ST T Tl HaTel DT FHUICR ol. AT AT HAfthed TATRT IRPIeT YeIedel, AT H ara
JTEIT G o SdeiedT ida fHasedT ST e ATsdT HAT Al e FHIA bl

Hell 3R aTed 1 81 YT hdes HISAT dAfthed AT ST ATl ARl TR TASTHIT SETSIR F:all
T FRUITAIS! HEY PRUTAT JMYFeh AR TR STRAISIeh Tl JATE ST T d¥felean
SCHI, AT HATeted] YR FUSICHT Pl 3. f IF 3Tehiard 3Tl AgeprIfer emRa Jaeiet
PRIl STE. AT ATSAT GBI AR STaicilciiel T Rigeran SMIfoT TAifep ehiereraT Sner HoM=T HIRAr! QiRieper
YT PIDIATET T IIUHAT 3Te.

I R TR TP Siig 3R AR e uR qrevarnc! FHfr bef ofe. SIS HF ST gt
frsder 3Tg I AT AedIgRd, ot T geed STfyerh! gidl. el faoteror ufer=a fareres ool g
TR T AISATER ATl U] auta el STfT a1 uferdrar echivredt =t Asft ghcsrar ek awar deat =t
A JreAT IHATd DI PRI IR B T AcheT AT AUUTRA ¢ U. WY, 1. 37e5et et AT AT ged]
STIOM=IT Bical HIURIFAT AT holel T B 3.

Read the following passage and answer the questions from 31 to 35 :
Arun Tiwari, requested me to share my reminiscences with him, so that he could record them. He
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was someone who had been working in my laboratory since 1982, but I had never really known him well
until the February of 1987 when I visited him at the Intensive Coronary Care Unit of the Nizam’s
Institute of Medical Sciences in Hyderabad. He was a mere 32-year-old, but was fighting valiantly for
his life. I asked him if there was anything he wanted me to do for him. “Give me your blessings, Sir,” he
said, “so that I may have a longer life and can complete at least one of your projects.”

The young man’s dedication moved me and I prayed for his recovery all night. The Lord answered
my prayers and Tiwari was able to get back to work in a month. He did an excellent job in helping to
realize the Akash missile airframe from scratch within the short space of three years. He then took up
the task of chronicling my story. Over the last year, he patiently transcribed the bits and pieces of my
story and converted them into a fluent narrative. He also went through my personal library meticulously
and selected from among the pieces of poetry those I had marked while reading, and included them in
the text.

This story is an account, I hope, not just of my personal triumphs and tribulations but of the
successes and setbacks of the science establishment in modem India, struggling to establish itself in
the technological forefront. It is the story of national aspiration and of coaperative endeavour. And, as
I see it, the saga of India’s search for scientific self-sufficiency and technological competence is a
parable for our times.

Each individual creature on this beautiful planet is created by God to fulfil a particular role.
Whatever I have achieved in life is through His help, and an expression of His will. He showered His
grace on me through some outstanding teachers and colleagues, and when I pay my tributes to these
fine persons, I am merely praising His glory. All these rockets and missiles are His work through a
small person called APJ Abdul Kalam.

39) oI ST NG ... RS

q) 3reNep foramt ?) 3iiesxgar AT A
3) T . S, gl P 8) teETeHeeT Uh iy
31) The author of the above passage is
1) Ashok Tiwari 2) Can’t be recognised
3) APJ Abdul Kalam 4) A doctor in Hyderabad
32) ITRIEET 3R I Bt Bl AeMp fRyan a+ T ... forfeant /forfeer / forfeet / forfRvarmy Hea e,
9) PRl g R) T aRA 3) Pt ) oM aRT
32) The passage suggests that Ashok Tiwari helped to write a/an
1) Article on Kalam 2) Biography of Kalam
3) Novel 4) Autobiography of Kalam
33) BAH T ...... 1. (aTeflet TR 3fftes aRyut auie faer.)
9) TS Q) If&TH 3) AR ) 3MTp, 2METST T Uis I RUMR
33) Kalam was a/an (Choose a more complete description &om the options)
1) Agnostic 2) Theist
3) Atheist 4) Theist, a scientist and a voracious reader
3y) 3P AYUTRETT TIRKA ... Plaefld TIR PO 3MTe.
9) 3R gy R) 3 gy 3) R aufn ®) 4 aufl

34) The Akash missile airframe was created in a period of
1) 32 years 2) 3 years 3) 2 years 4) 5 years
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34) 3reUl foaRy ... RISl 81,
9) genelt Feefid fapRM ) awaTed = 3) TP YPRAT AR 8) ITeTaH

35) Arun Tiwari suffered from a/an
1) Heart related disease 2) Incurable disease

3) Type of cancer 4) Accident

Yt SARTATIH TR JMYTRA 3¢ T 8o T Swr &l :

3TfcIReh ICUTETET 3TAR e T PIASUIAT AqHIAT fdhwciiad A SUT e Jad
FRUIIS! Sfhear JeoReHE 3iac g DRIGT AT, AT U FANES AT R USRT o T IRATST
T A e S, 9 7 fepadt Hiees! Saett ST ST IfiReh SeTes 7 et SIS, AT URVITER SR Sepr
FTeft. 3mRapd 3MfoT STTde) Picamaelt T 3= WRasd AR AT IRST B, JuT o 37 T Ul
DIV AN ISTHIIGSST T egdl.

IRBRA SfRUIDS §, 80,000 AR HeffaR TARCIeT & ST Aol WIRITET Hgeaepiel Heped gt e,
UfeeT AERIEI SITETHE HRIe Sedd I TRBR YRV ST SRS PR SHREAT BT, QAT PIedret
dr fIpuar TRIST Hhefed 8. 31dT 9%33 HEd WRPRT Rl @RI HeHess (SIey) & TR IRPRT vl
T Petl, DI T ARIHGT T HREFAIT diof M0 @ Hior F=dl g, IRekisT, @i 4o 3D
3TfcriReh eRUT AT &St HIa SHReA, Bl SATHS TSEISET Ul GURET. TR diel JUeted] STTell. ST gRigo
I QRATH Wt Geatt gidl, O GRS 3ol el doel UIegd il STeHrar aig aioR ko 3Tereh
SAG P B1d, g qRadel I 3. Plel augdiaid AN SRAURT 8T Heel YSUSUTIT BREMIT ST
eI Ao G ST,

HiTSITens &l Sg Y Slel PRIHIT FHNAD YREM BIIGT URT Pedl Tedl, Pl SAGR Al gl
AIRAH AT ARIGRID TEIRE &0 bl ST TSI D], SFele IT BRISHHI BIFTRIT SRISHTRIE
fomT1, g gl 9, WRIae! dIcidhiT Hed, TRSIGdTT Bl ATH feel SITdTd. Hertearar (Hefg I TRBRA
fAaRa aRaTd STIOr RAGR AT FR&T AT el ANGH <l AT AISiel PRFIR, HIcwD, I3 37 F1feh
IRBREIET AUl TG ST

Read the following passage and answer the questions from 36 to 40 :

To help the farmers, the Agricultural Adjustment Act provided for curtailment of farm output to
get rid of the surplus that was depressing prices. Farmers were paid not to raise grain and livestock,
fields were leR idle and excess produce was destroyed. Considerable criticism was levied against this
policy. Millions of people throughout the United States and the world needed food that they could not
pay for, and as yet no way of giving it to them was politically feasible.

The government embarked on an ambitious project in the Tennessee Valley, an area embracing
6,40,000 square miles in the heart of the South. During World War [ it had built a dam and ammunition
factories at Muscle Shoals, Alabama, which it had tried unsuccessfully to sell when peace came. Now,
in 1933, it created the Tennessee Valley Authority, an independent government agency, to put these
facilities to work producing fertilizer and electric power. Moreover, the TVA went on to build many
additional dams and power plants to improve the region. Cheap electricity was made available; floods
that had ravaged the Valley and hindered its development were halted; farm experts were sent to show
the people how to conserve their land and achieve greater production. Within a few years, what had
once been a backward area was a land of humming industries and prosperous farms.

Looking to the future, the New Deal passed the Social Security Act to protect the people against
many of the common forms of distress. The program, which has continued to the present time, includes
unemployment insurance for workers, old age pensions, aid to dependent children and benefits to the
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needy. Federal funds, distributed and administered by the States contribute to much of this security
system, which is supported in part by workers, employers and State and local governments.

3¢) AN AR PRIEMET 2 DI gl ?

9) BHIR AT FaY FURU ?) unft Raer Fafd awur

3) L I 8) TNPrd FAIAHI SSUNIRIT &0T 00
36) What was the aim of the Social Security Act ?

1) To improve relations between workers and employers

2) To provide enough water

3) To bring about prosperity

4) To protect people against common forms of distress

39) fhAt PrERTIHN DT MEIT SEEeR JFel el ?

q) Rept e Q) orciichier arfcriReh SedTed
3) clidhids 3= fdod &—eT U A 8) § g St PRIsHH
37) What was assumed to be responsible for the decline of prices ?
1) Idle fields 2) Surplus farm output
3) People could not pay for food 4) The New Deal

3¢) 3Mfihedr 3fgocHe 3idaaR ST Bl dhell Teft ?
9) T PRI A ITeT R dhet Tet, GuT SAlhiT ST IRST gl
Q) IT BRI TEMHSIAT e 3Met ATl
3) T HRGM U IR sTTet, 901 AT A Y et AN,
) YeTthT AT,
38) Why was the Agricultural Adjustment Act criticised?
1) The Act curtailed farm output but people needed food
2) The Act could not stop the Great Depression

3) The Act gave away food but people did not pay for it
4) None of the above

3Q) @Tefleiddhl P I e 3R ?
q) TRSTGAT 37 QU7 JISTehRIGSeI WA -Tegdl.
R) TR Ut FERIGIT JANIGHER) SRANGT DHREMT SHRE.
3) ST FMYTEE ARSI el FHGIAl BITHR SRTel.,
8) IR JREM PRIGT SSTal Sl JR&T U e,
39) Which of the following is an incorrect statement ?
1) It was not politically viable to give food to the needy people.
2) TVA built the ammunition factory in Alabama during World War I.
3) Public education about land conservation resulted in prosperity.
4) Social Security Act continues to protect people.

go) Tl WRIT HEMs® (TIEn)

9) B TR TRBRY FLAT Bt ) f&9 9833 AR MRbd T eRur gree
3) f& RISMRY famT Raen ¥) Rl PR T ATl eI PRAd.
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40) The Tennessee Valley Authority (TVA)
1) Was an independent government agency
2) Built dams all over the United States afier 1933
3) Provided employment insurance

4) Is supported by workers and employers

Jeiel SARTATET TaR JTUTRE 89 o 84 Tere Sox & :

"M g SUgth SR a1 I, A Wi @ Rig e, eIl PRI a1G, AraTen id:erhia
G- I g Ayl fIpRT &9 ST R SRS 31’ 3T vel TR Higet STl qo1 M/ iR, urfas
q T SerpTerRITIe] SUIhdT AL Jeorad fORIY 37 3RT HIHUAT SHRYT ATal. AT gigell JMae A
UTE SV SUR FISTHRE A9 I (-9 SHeeId SRIAT. A femdardt 7:Ruch ‘@wer 7 3
@@ | A &Rl Yeb' el B IRt ATl HAHIISTeD ST, AT &uTaRiet raT -¥dfiich g i faRre
Bq Aehd ATE. HIH AT 81 Urch &10Fd 3RAQT, A1 SHIURAehTea Stiard] SR 9Td 8195 21 ATel. faermg
g SMHMS T 37clifchd 3N & I hel, TR fAenfigarar AHIND e, IS @l Uselel AHfed 54 d
ORI I feR Sifhe gElvE RTar arler. ST [T, Rt onftr IR & BRI A 3Te] g
3R, T Tdep QIRAIT ANy AT RAGIA dTcapTieTehgsed] Sugth oXelTd Ulfeel 3R Iviig! FeUIUIR ATal. PIvKia
Tt ST SiegT Hige! ST degl Uebar AT SiigHTeR ford R URUIT 1 @iciler aren @iiefiR ok aor
PIVTATT AR T, DIVATE! RIGITT SUIISHHTS! RN § SgRIT Widid XA 3dhal aTdieRvl Tiet
R 1 PIEl DI G Froganlt febar faadeng! SRuara T9d SRl U QaTegadl RIgiared Iugthduar
SRR YHehdT HeT Afieh AgwrET 3.

“fifes <T@ AT RS ATl GERTET Ueb ety WReb 3ATg. ~{fiich 2Tl aTel et SNy eidTd. Hiar
S g€ 9 gEag 0 gd J1d 46 YIS 2. AT YT aTaR AFared] JERIo! 7 il HERRITe!
21 AT FEUISl SIS bl AMAE 3T 49T QTeTeiige SHT JTgdll. M Rl OR ehl, ST, o, Teel,
W g AHGHHST AT FgaiEl 9 IRRREedEr faaR dRard. a1 U], § e, dUl RS R Heh
RERFRILT SR, Tblell S AHGR—ID o ST FehRep SRUATT AHE 34l ary Sireit, aff, o
IR PIVITET T YOI THSFT TRl T YDAl B SO G SRIAI. TR AHTSTSiia gl
Frel (IspY PIeEdr TR AMIND Detgd IAMauftie JIdeieR Pl g, U Hfead aT] et @,

8q) e v 3w P ?
37) HFET Siia Fg d GEag P,
¥) @hl g AHTTEHEST AT IR qeeTaT R @,
%) MU AR JRATUE HERTIATS! PRI,

) geidliel Aagrar oy g,
9) 37 M § Q) ramfr g 3) 37 MU & ¥) Wheh 3T
¥3) IISTHIER MURIT RICidraT SUANSHRITS DIt IRIRRI) 3maedes 3=Id ?
37)PIGBTER BIUTR GITHT GROMT 9) dR® g AEEIRS eI TgdHel AERy
)T TR ) SFIRIDE! eI
9) 3T 3Mfr & ) g 3T & 3) T IMUr s Q) & AT
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83) SHIYRIPE GE-G:rRl g TeF—-Yhd! Sfd 1 YT S 3 ?

31)TRRIE! 9 AN AT 3T HYH ST T

) FITHM RIHRITGTET BTG J 3id:achial fIhr STTea.

)M UH T QAP ITYh AT SO

) SMYT AMIRNID STEEERd A SRICITHD

9) 31 30T B Q) 9 3T 3) R § 8) eh 3T
¥y) SIFIURIDIAT PV ciifehes A SaTd AN ?

31 T TR & sueht ARG SHEERT 3R,

q) ST R 3T StiadraT RRfivE 3.

@ )SHIGaT AMIRSG A Pl TR,

) FMGERIC! SWYth SRelel FHEM 4 d AUl I e DIV SR

) Heh B ) 31 37for & 3) B omr g) Th S
8Y) ST Gfasar ST Serehlel ATde] STThdl AL PIU A1 30T JATATD 3T ?

37) SFEd @ g AT STHGHI ¥) I

%) AETTD SR $) Aa \Hgre sifc fear

q) 37 T & ) garfir s 3) H U s ¥) § 31T &

Read the following passage and answer the questions from 46 to 50 :

In the Soumya case the Supreme Court acquitted the accused for murder but convicted him to life
imprisonment for rape, which Justice Katju criticised in his writing. The subsequent incidents were
wholly unwarranted. The court invited the former judge to defend his statements in person, then chose
to take umbrage at his writing, issued a contempt notice against him, and then asked security staff to
escort him outside the premises. Why did the court have to go through this theatrical public
confrontation, when it could have issued a contempt notice on the basis of the blog post alone ?

The second aspect is even more troubling : the relevance of contempt law in a free society where
criticism of the judiciary is inevitable. Judges have vast powers and people will not remain silent about
the exercise of such powers. Just as decisions of other branches of government attract criticism, judicial
decisions would also invite the same.

The Supreme Court has held that for the judiciary to function effectively, the dignity and authority
of the courts must be respected and protected at all costs. But the need to respect the “authority and
dignity of the court” is borrowed from a bygone era; it has no basis in a democratic system. The law of
contempt should be employed only to enable the court to function, not to prevent criticism. In many
countries, contempt jurisdiction is regarded as archaic and exercised sparingly. In the US, courts no
longer use contempt to silence comments on judges or legal matters. The First Amendment to the US
Constitution forbids imposition of contempt sanctions on a newspaper.

The English position is best demonstrated by the Spycatcher’s case in the late 1980s. After the
House of Lords delivered the Spycatcher judgement, the Daily Mirror published an upside-down
photograph of the Law Lords captioned, “You Old Fools”. But no contempt action was initiated against
the newspaper.

46) Umbrage means -
a) Shady b) Appreciate c) Resent d) Offended
1)Onlya,bandc 2)Only a,candd 3)Only a 4) All of the above
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47) ‘Upside-down’ means
1) Crazy 2) Straight 3) Settled 4) Topsy-tuny
48) Which analogy was used for the judges in the Spycatcher’s case ?
1) House of Lords 2) Contempt Jurisdiction 3) Old Fools 4) Law Lordship
49) The Supreme Court invited Justice Katju to defend his statements; but then, what did the court
do?
a) Took offense and asked him to go away
b) Insulted him by asking the security to remove him
c¢) Exhibited public confrontation
d) Jailed him
1) Only aand b 2)Onlybandd 3)Onlya,bandc 4) All of the above
50) The writer feels that criticism of judiciary is inevitable because
a) People live in a free society b) People will not remain silent
c¢) Other branches of government also attract criticism d) Authority of courts is limited
1)Only a 2)Onlyaandb 3)Onlybandd 4)Onlya,bandc
49) X I7 URGYH HBRIGH! el SRIGURT G Hder.
~ K\@
x | P
N g
uo
N N N
Nl N € N
) ?) 3) 8)
51) Select the fold of transparent paper sheet X from the given options.
C_[-
x| P
N g
IO
N N
NI SN
1) 2) 3) 4)

y4) feerea yakh sy ereft st FasT S ST Mgk angdt (X) qoT Blsd.

W] A N

Q)W
s)W
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52)

Select a figure from the options which will complete the figure (X).

N <

43) foiear IRAT U RFgrAT ST Pivdr gaig IgeT ?
4A | 6C 2R
6P | 13R | 7T
8N | 10P 2
it S
9) T 2) R 3) 8T 8) ¥R
53) Inthe given square, which option will replace the question mark ?
4A | 6C  2E
6P | 13R | 7T
8N | 10P 2
Answer Options :
1)2T 2) 2R 3)4T 4) 4R
4%) @Fﬁaﬁﬁuﬁwﬁrwlqm PIectdl spy felel armed. fspsiaTsdar arg wly fHasr.
R : 1) PIa TS HiE 3R,
1) 94 i ST 3R
s : A) FTE TS ST 3T
B) PIel ST TS 37TRd.
C) |4 eI HiE 3Ted.
D) d e ST 3R
Tt SR
9)%h A, B @ D sRIsR 31Ted. ) ®h B, C g D sRIsR 3Ted.
3)%h AT B sRIsR 3. ¥) Fd RIS 3.
54) Study the statements and the conclusions given below. Select logically the valid option of

conclusions with respect to the statements.
Statements :

I) Some trees are branches.

II) All branches are hats.
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Conclusions :

A) Some trees are hats. B) Some hats are trees.

C) All hats are branches. D) All branches are hats.
Answer Options :

1) Only A, B and D are correct 2) Only B, C and D are correct

3) Only A and B are correct 4) All are correct

44)

55)

9 3707 9T glehl T laildiet ey TRTel 3Ted. T M glehl 3T SFaieam e TivTel 3TTad. TR 3T

M, Flefdiet g fhheHe TNl 3MTed. Afd, TRa Sf AWR, S9a(d  Hediemed Iilel 37gd. R
saeier, fondne, iefiarer s Besier a1 Jafded IiTer PIor 31 2

q) R R) @™ 3) IR ¥) AR

Ram and Shyam are good in hockey and volleyball. Sachin and Ram are good in hockey and baseball.

Gaurav and Shyam are good in volleyball and cricket. Sachin, Gaurav and Sagar are good in baseball
and football. Then who is good in all - baseball, cricket, volleyball and football ?

1) Sachin 2) Shyam 3) Gaurav 4) Sagar

4)

56)

TeT Aiehfcres AN 'KAMAL' is '9§3€982€94" 3R oR 'NO' ATS! DIV Hebd et ?
9) 9392 Q) 91894 3) ARI3 8) 949¢

If the code for ‘' KAMAL’1s 1626142615’, then find the code for ‘NO’.

1) 1312 2) 1415 3) 1213 4) 1514

49)

57)

SRA$B a3 AgB T adlc amed, A#B araref A & B ot sgdior amg, A*B araref A & B <t
e 3T MM A @ B a1 31 A & B a1 91%5 3, TR R, T @ M & Hids 37Med g QAU ARaes!
RESIN

9Q$R@T*M JQ@RSTH#M  3) Q$SR*T#M ) Q$R@T#M

If A$ B means A is the father of B; A# B means A is the sister of B; A * B means A is the daughter
of B; and A @ B means A is the brother of B, then select the relation chain that indicates R, T and
M are siblings ?

DQSR@T*M 2)Q@RS$TH#M 3)QSR*T#M HQSR@TH#M

4¢)

58)

oiegl et forepuariaed iepet wetl, degr far, feam smfor fFrm it geier faem e,

fo ;W fohar el amdeht weetur eRia RTeheT.

faan D g 9RIq T,

frn . i b e AT TR i Rt

SR Thth @<hl -gH! Wi dlerd el o) PIuft oRid frepett ?

9) ¥ ?) aIe, 3) e 8) Yengl ATl

Pia, Dia and Nia made the following statements when questioned about the winner of the race :
Pia : Either Setu or Lalu won the race.

Dia : Setu won the race.

Nia : Neither Setu nor Lalu won the race.

If only one of the persons is always a liar, then who won the race ?

1) Setu 2)Lalu 3) Both Setu and Lalu 4) Neither Setu nor Lalu

4R)

gAIps, SF A0 ST TS IRTeied] ARGl SRoTedl GUCIUEN o TRes PH ATRd. SITDS
ST UIT AR 3. SR G-I SHder 94 & Sirell Y R foel, TR sid g Si1 Areamdss g
fire FoaTdial 3Rieicd] ARG 37ed] FRIsdadh RS I, FHdhs Joardial SRieied]
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59)

TR TRT SaURT YIiT e

) 9o )Y 3) R0 8) M

Lucy has 10 less than twice the sum of Zeenat and Jaya’s coconuts. Jaya has twice as many coconuts
as Zeenat. If Lucy were to give 15 coconuts to Zeenat and 5 coconuts to Jaya, Zeenat and Jaya
would each have half the number of coconuts Lucy had originally.

Select the option which shows how many coconuts Zeenat had originally.

1) 10 2) 15 3) 20 4) 25

&o)

60)

IR A URIT IR B T 3 fifdreid anfir ek A T aeR C 9 o fifdheid vepur a9 |1e 2. 0o 378, Wy
IR A URIT IR B T I [ifdhe™ 7 R A T 9 C I §F RIfpeid Tepur a9 |1e 2. 03 37, TR IR
A URT IR B 9 9 C T A 9 1S forcht g8 2

9) ®. 98, 3. 0 ) T. 93, .90 3) %9y, ®. 9% 8) 3. 99, 3. 93

Two bus tickets from city A to city B and three bus tickets from city A to city C cost a total of Rs.
77. But three tickets from city A to city B and two tickets from city A to city C cost a total of Rs.

73. What are the fares of cities B and C from city A respectively ?
I)Rs. 14and Rs.23 2)Rs.13andRs. 17 3)Rs.15andRs. 14 4)Rs. 17 and Rs. 13

&)

61)

903 T, 93¢ T, 943 [t T (R A AT SACIedT IR Bt 3R, AT Bidlid T FHHIA A
s del. A DisTAT TRUT Jhedrd! Tl SAIURT uaig fHasr.

9) 84 ) 89 3) go ¥) 3¢

There are four metal rods of lengths 102 cm, 136 em, 153 cm and 289 cm each. They are all cut
into parts having equal maximum length. Select the option showing the total number of parts of
all the rods.

1) 45 2) 41 3) 40 4) 38

&)

62)

R, 3,4, & ¢ SNM0T R T ARG 4 T HRT STUIRY SHOT DO 3ics Trgl =1 AT, 37T o Fehr fareft
AT TR 8RS Mehciied ?

1) 4 R) %o 3) 94 g) R0

How many 3-digit numbers can be formed from the digits 2, 3, 5, 6, 7 and 9 which are divisible by

5 and none of the digits is repeated ?
15 2) 10 3) 15 4) 20

&3)

63)

A g B 1 g efidiel Heum quie dRuRT SR 9ai fSaer.
T AT ST g T eI ean F9eid erad 3ffed. aief, R JRI 3/ SRId qof &hwall. dielell R /9o Rid
U7 PRIIAT ARTONRAT JesdT Y/ ¢ dobd S /3 erdd ot apeall.
et A 1t B
ATeTaT ST o
9) gl el 9= med ) el A ST 3R
3)0eft B ofgM 31mg v) eficfier e Ffead axvarer g¥F Arfedt greft 8.

Select the appropriate option that describes the relation between quantities A and B. Lalu and
John are competing in a road race. Lalu completes 3/4" of the race in 2 hours. John completes 2/
3" of the race in 5/8" of the time which Lalu takes to complete 9/10" of the race.

Quantity A Quantity B

Lalu’s Speed John’s Speed
1) Both the quantities are equal 2) Quantity A is smaller
3) Quantity B is smaller 4) Information is insufficient for determining the relation
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€%) I ST HIIAT ieaT AT JAT OIRR 3 ¢ 8 3T, Y INFaR IiedT gamd IO 8 : 4 Blgel, TR
aferaT Sfor efadm gt aeTe 9 e,

q) HIT 0 A 3T Bl 9y A R) | 9y @ 37for e 0 a
3) QAT 0 ¥ Sfr Hidar Y ay g) AT Y aN 37T BT 0 a

64) The present ages of Savita and Kavita are in the ratio 3 : 4. After five years the ratio of their ages
will be 4 : 5. Find the present ages of Savita and Kavita.

1) Savita 20 years and Kavita 15 years 2) Savita 15 years and Kavita 20 years
3) Savita 20 years and Kavita 25 years 4) Savita 25 years and Kavita 20 years

£4) 3, 4=t qo T, a3 Ht Qo A areft ATt SISl FUR P TS IID HISUARATS! TR STR<
TG AT ATugl fohh el SRIRIeT &, g e
q) 30 T ?) o Tl 3) 8y et ¥) 3y I

65) Find the greatest possible length of a scale that can be used to measure exactly, three pieces of
cloth of the following lengths :
3m,5m10cm, 12 m90 cm
1) 30 cm 2) 60 cm 3) 45 cm 4) 35 cm

&) TP A 9 B & ARE & 3Med. A IRART 15 ¢ T A 37, TR B IR vl ¢ AT SAieram M.
T F ESThedTcl el Teep fohcll ?

8 anf
! {b:@
. / \
gl A g B
q) 9§ IR JH R) 3 IR | 3) ¢ TRT B %) I AR [
66) Figures A and B are square areas. Side of square A is 8 cm long and diagonal of square B is 8§ cm
long. What is the difference between the two areas ?
8 cm
! o
:Figu.m A Figure B
1) 16 cm? 2) 32 cm? 3) 8 cm? 4) Zero cm?

§9) TepT ML 'A' ST SN[ 99 AT TIFRR AT AT 'B' I o G0 T FRIMIER 377, SR A 311for
'B' I ST Sigaeqel dhail ok 'A' SR IS 9¢ T FAFIER Al TR ITI[AHL A’ 37107 'B' WIS
febefl ereht 3rcilet ?

) Q9 ) RE 3) Y 8) W

67) Inarow, ‘A’ison the 11" position from the left and ‘B’ is on the 10" position from the right. If the
positions of ‘A’ and ‘B’ are interchanged, then ‘A’ becomes 18" from the left. How many persons
are there in the row other than ‘A’ and ‘B’ ?

1) 27 2) 26 3) 25 4) 24
£¢) AN TNAT SRIgdRIT NS IR® AN 5. 9200 dof Bdel, SR o dot thed T B, 83 TS ot

T ST X fohd) BT ?
9) 3.% Q) & 3) A« 8) Qw0
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68)

Reena took a loan of Rs. 1200 with simple interest for as many years as the rate of interest. If she
paid Rs. 432 as interest at the end of the loan, what was the rate of interest ?
1) 3.6 2)6 3) 18 4) 20

&R)

69)

SR a §0% b 318, b 0% ¢ Mg, ¢ 1% d 3, W & d g 10 a AT fhd) Ter Mg ?

9) Y4o ) Yoo 3) goo 8) &Y
If ais 60% of b, b 1s 40% of c, and c is 20% of d, then what percent of 20a, is 6d ?
1) 550 2) 500 3) 600 4) 625

70)

YR §aT’’ A1 JARFRGHIT o Algdetet FIRET 3Ry

ARATIA S PRIG ST ST So1 391 urarea] Sieilfiies IcdteAre TRefielt JATEma et @rd
RN, ISTERUM, Joo Y&l MU PR 3Ricicd] HRETATCT AT SR BIFTR HHT PROAT TR
fesRIcT g, St i fSeft ST, A DU YIS faaR FRUNEST HR BIa! -1 BudTe HickiTe

fiesd. 1T TR U ST $AA d APAT BINRIDS YD IUGARIS! SUTth &FdT AN,

BRI e i S oRAd, TR TS BRETA ANUIRE B! R 7. IS

ISR d T AR SATMRRITS AT AR PR IUTGT &1 Faid b 37Te.

et AT Sfad sriftde /= fraer.

31)#T7eh PRIS ST BRI O 8, " HRAT a9dT’ @ IR TR PRUTRGTUTT TS RUR QI
gch 3Tedl.

9) TOTTEI fRromTes ST SRR B IS PRI ST HIRTIc el PBIRTRIET STeasll
foTT aie.

&) DU BICT fIGR T PHH! WIRIT HH SRITAT TR SHR AP S ATpiell SadTd TS
AR BEFTRIE SHATGHAT BAM 37T,

$) JMYfTh SUGHRIATS! AP & FTH PRUARAIS! HIERA U=l fRrerorh Jfaer sfueards e,

Tafft W :

q) Terg! e et mfediean dewia e A,

R) P TS Tepg! foeted Hfgeel e el

3)%eh & d  footear mifgchiel drfchegsean JRTa 3TTed.

8) Hh 3T I § fetedn Hifgdielt FETd 3.

Study the following observations noted by the author with respect to the “Make in India” initiative:
India’s labour laws and labour quality simply do not meet the needs of high-quality industrial

production. For example, a factory or enterprise with more than 100 workers must get permission,

rarely given, to retrench workers. This encourages companies to think small, not thinking big. In

addition, our skilled and unskilled labour does not have the capabilities needed in modem

production. Labour is poorly educated and does not have discipline for the factory floor. Not

surprisingly, worker productivity is the lowest in India amongst emerging markets and major

Southeast Asian countries.
Select the appropriate interpretationls with respect to the above information.

a) Labour laws and labour quality are the two factors posing hurdles in the way of “Make in
Indian” initiative becoming a success.

b) Worker productivity in India is lowest as they are poorly educated and lack discipline required
for the factory floor.

c) Worker productivity in India is lowest as companies think small and employ unskilled labour
who are ready to work for low payment.
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d) There 1s no provision for education that assists persons to acquire capabilities needed for
modem production.

Answer Options :

1) None of the statements is logically consistent with the given information.

2) None but ¢ conform to the given information.

3) Only c and d are logically consistent with the given information.

4) Only a and b comply with the given information.

99)

71)

gt e e -

SR fafar AR SRAT 9T e, TR URUTHT G0 Silelel foRAR ST & Al Ueeh U
TRGATATE! ae BIsel. Heh ATATIREITE dlebid! SRR 3MfoT 37fuges erhrar IRaTR a1 Igran dis
Thiee.

géie aiamYd a¥ie faumien dedid Fald arg ovel, 3R SFfA faer

9) Fd Y TR B ISl Mo oRARTg g 3Ted.

Q) fafdd rIeT ORI SRHLARIENT TPl e PRUT ISR AT,

3) A Qe 31fiqes dldhald! ale eaed ARG THIAY ael.

8) foRI=aT STATfcTeh ek Tebal Apell fRrggeh R@IUIR el
Study the following statements :

If a whimsical dictator presses the missile button, the Third World War thus ensuing will end
quickly with the possible end of civilization. It is only the hegemony of people like him and the
misuse of nuclear power which will trigger this war.

Select the statement from the following options that is the most appropriate inference related
to the above statements :

1) All nations are equipped with nuclear weapons for retaliation.

2) Though whimsical, the dictator may not like to end civilization.

3) The growth of nuclear power of each nation will destroy civilization very soon.
4) No civilization will be left after the Third World War.

9R)

72)

géleT faumrr aRiemr i ¢

) a1 Weardiel Fd Pishied] TR Uies) Jdedt Jred.

¥) PIE! TRIAT TIRT gRHSY 3fTed.

P) ISRIIRUFAR STeeied] PlisheT BRIFT TIRAGR HeU 37ed.

$) {d TR piftheal ATEH.

et AU SMUR Yeidt TRy Fatd e fFspy frasr.

q) T AT Prel Uit pifshed! BR TIRT GRASY 3Riciel 37Ted.

R) T AT Heh bifshed! B 3MTRd.

3) I8P Pifshcdl ER IGRIBRUMMR dTetel! 3TTed.

8) St B Pifshe qitfeletl AR, T FIR GRESY 3R e ATard.
Examine the following statements :

a) All concrete houses in this village are painted white.

b) Some of the houses have spacious porches.

c¢) Concrete houses that are built after liberalization have spacious porches.

d) All houses are not concrete houses.
Select the most valid conclusion based on the above statements from the following options :
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1) There are some white concrete houses with spacious porches in this village.
2) There are only concrete houses in this village.

3) Most of the concrete houses are built after liberalization.

4) Houses that are not built with concrete cannot have spacious porches.

93)

73)

ge fEetetr o U™ 7 careiter fsy o1 g e smuR adhgsean g fsmiar gty fraer,
faur:

1) YFIaARERIST PIUTETE! aTdTIdhield argd WRaed -Tard.

1) AR g T SRUTITUeh! IEIAT TG FauRET a0 e,

111 DI g VAT BRUTAhT PRI SRR FHRAT TN,

R :

37) AR X3 AT Jarl PRUTAT gaT ST S &Iell.

) |d YFE ArIDiord dTgT Tard Rl gl

P) T YA TR FERT AT

) ArIieTd g Ja PRUR Fd Ued 3RAIC.

Tt S :

9) §, P AT S ) Heh P 3) %eh 8 ¥) 37, § 37U §
Study the three statements and the conclusions given below. Select logically the valid option of
conclusions with respect to the statements.

Statements :

I) None but the affluent can afford AC vehicles.

IT) Some of those who travel by AC vehicles are protected from polluted air.

IIT) Some of those who travel by AC vehicles don’t have health problems.

Conclusions :

a) Those who travel by non-AC vehicles suffer from air pollution.

b) All the affluent do not travel by AC vehicles.

c¢) All the affluent do not have health problems.

d) All those who travel by AC vehicles are affluent people.

Answer Options :
1)b,candd 2) Only c 3) Only d 4)a,bandd

%)

74)

HTE ATARIE o TRTRIAT TN Eciel. Alhefiedm dedt theh Tehotul WX dlefd gial ST 3R Qramehl
UGBS0 Thal R 3T Tehal Wi dield &id. o Tgurel —

3T ST SRAT dleel. F fohEelt | Mt et

o : 3FIH SRamST i, Ht fhHl M Mt dhet.

S, : o} fUereaT SPMTETER ATV, T SRaTST dlsel.

forereft | epIoft MesT et 2

9) T R) ST 3) 7 ®) 3T fehar ST bl T
Three criminals were arrested with some goods. During interrogation only one was telling the
truth while each one of the other two told the truth and lied alternatively. They said

Ani : Janu broke open the doors. Manu collected the valuables.

Manu : Ani broke open the doors. I collected the valuables.

Janu : I carried the bags out of the shop. Manu broke open the doors.

Who collected the valuables ?

1) Ani 2)Janu 3) Manu 4) Either Ani or Janu

MPSC - IIRIdT Gd ORIetT : 209¢ gd o¥tedt 9mR-3 / 2%



vYy) e feerelt fum g freps srar g fauriear muR qdhgsean e frepsar vk fyaer.
faum:
UhT ARIDIT U= R SHHa=IHT i Sed= 30T ATl aIfyd oA ifiidel. IR HHART
e Tl SIRSR faRIET e 301 Tehtel = e/ fo Scae enfid el TR,
fRee -
1) a7 P HHARIR Tl WRIARIRE PUe! Aftdhd Icoe 3RTelel fogd Id ATl
D) 3¢ aRs Srferepral 3muet Sa= 3meft enfid awrd, 31t PR} o<t sTuT 3.
i IR :
9) Heh SRy T o] ?) Weh fepy 11 &
3) forsas 1 amfor 11 Qg @y, g) T 1 fohar 11 frseped omp gt
75) Study the statements and the conclusions given below. Select logically the valid option of
conclusions with respect to the statements.
Statements :
The Government run company had asked its employees to declare their income and assets, but it
has been strongly resisted by the employees union and none of the employee has declared hidher
income.
Conclusions :
I) The employees of this company do not seem to have any additional income besides their
salary.
IT) The employees union wants all senior officers to declare their income fist.
Answer Options :
1) Only conclusion I follows 2) Only conclusion II follows
3) Both conclusions I and II follow 4) Neither conclusion I nor II follows
VE) &UTFTE! 65 1 SARTA Gileil SHBUITIT T d JRIIT HRRITTUT HRUAT MR GHEATR 37Te. T HRIT
REIUTAT ehTal YTl QI I UTfies aRRIeaT HIeRkbIigYT d1g 318, TUeh! AIGHT AR 3felel Ui
T e GUd 3TshHd SRT o T ST SRTcied ICER SIGINI %o TR, Aeplodrd
SIENTE T SR STeRax<il HTetdh! fHasdett 3Tfor arear uRomt qefter aRfRU 1R aeft. Fam 31
SRACIET TET AT TETARIYT ThR Aigaet!. YA SIob T ST PRUTRAIS! Gral UietT STt
T AT AT 3TCHh TROITT MY AT, TlefiRT G AT AT ST Thddhld SR TRUITET HIe
FRA MM, 31T T T AT FHSI SATeil. HRIDIo! ATGAT g Hferd ecfetell HIoT SHIT SI0ATER Egl
T AT el IRTANIS! ITel oo A 3. Tl ;
q) ST ATeHHEH I 1 SR SR SITUIrEl YT dRUA! AR ST Yo geall
MR FROIAS! T I0AN FMe.
R) PIVATE TR THHED BIVIR ATa! ral T JRIGT Mg Tt STH1aTel @ eTe ST el Feei1
e el Srevaret T e,
3) I oiedT IATe Field A Tad: A1 JRIAT SRIT ATl fORIUTT difeRaT SHIuRigr TepR Algdett
AT GINd PRI JRITS! T Tl TeTe.
8) QT AT WRAGD, AU AeH, AIGAAT AT I g IRFRI FAIeuamel e Aed
ERMICIMCERIICNH
76) You are in charge of maintaining peace and order in one area where occasional violence erupts in

no time. Two factions residing in this area belonging to one religion have a dispute over ownership
of the religious structure there. One of the groups having a large number of followers residing in
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the area is very aggressive and tries to dominate the other faction having a lesser number of

members. In the morning the dominant group grabbed ownership of the place and as a result the

situation suddenly became very critical. The faction with minority lodged a complaint against the

dominating group. To avoid complications you ordered the police officer to arrest the leader of

the faction in order to maintain peace. Members of this faction thought that the police force

wants to kill their leader in a fake encounter. In the evening a large mob with sticks and flambeaus

started walking towards the police station for making an attack to free their leader. You will

1) Ask the police force to be ready to fire at the mob as it being very aggressive might try to burn
the station building.

2) Assure the group that there won’t be any encounter and their leader is safe and request few
members to talk to him.

3) Talk to the arrested leader and convince him to announce that he is safe and no complaint is
lodged against him by the police.

4) Request the corporator, legislative member and parliament member of the area to help you in
handling the situation.

VoY)

77)

T AT YGuUT RIFUTER <@ UM faIHRI W SATEId. ‘Welldet (STHTfeies) &ar 2090 3Tgarel

FEIT JAeAT &I 3Tl &, HRAKIA el Afie Sy 916 ekl 37e. I,

q) AT FRIFET! TGRS HOIRATS! 3Taedes HIfecll MesT S_Iel ST TRST SN SRR
fIuTTFRAT FEhrRIH SUshH PRI _ugraT ok eme.

Q) AT ATED (AU BRI dTe HGuUT I pRUATATS! a2l ATeT~ep g YRavard!
BISEIRCIGICH

3) dTE GNUT RISV UM SRIUATERISRIN QTaRId TRig AERTHIE ! ST e FehRed] he=Td
HIRATYT HRUIT! YTl fHeseTet.

8) ATEq faumITeaT Hede Rfqaell REATeR AR atg FRIBK @h_iel 3T SRR GRaR 3Rl
fSepToft et aTgT UARAIST I ASIT [T PRIe.

You are heading the department that looks after control of pollution in the city. While reading the

report, ‘State of Global Air 2017” it was evident to you that ozone related early deaths are increasing

in India. You will

1) Collect related data to know the reality of this problem in your city and then decide a course of
action, if necessary, in collaboration with the health department.

2) With the assistance of the transport department of the city, you will devise a plan for supplying
reliable public transport for controlling vehicular pollution.

3) Along with developing strategies for controlling vehicular pollution, seek modern systems of
managing garbage of all kinds found in the city as well as around the city.

4) With the help of the transport department, control the number of vehicles on the roads each

day and organise a good network to transport garbage to a place away from the city.

v¢)

T FHRId Tl Al S USTER SN, e EIARdTeliel QM SchiAT NTaTTeT TRt eRia ad
SR ST 81G T fehReples graTdciian T SiTell. WIS 3120 HehReAT Gad! SFEHT TUATATS!
AT FgeTaT AT DS Ul HRIG aRs], deeiral gl 8o daxied] IRERIT a1 o §5a1 ot
YU faech aRd M. AT ATl AR (garreel) g dimferes aRfRd Prest gom=
RIENTITRET (3Mfhede) g AURR-TE! @ qafaRur Hagefie uReR el 3.

q) ToeTaT Aggl Bvarh @l O WieRTer Snfdr wfdsard s1en SvEae @d dardara.

R) a1 MERAGUTe |G PrarIT Jiiar URTT wed HUARNITG! d red] faediemed aHsrger Ao
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78)

EIRICT A& QUIRITG! gl s RIS e,

3) PHARIMT RGRAT IRTT FHT 91 3N g FORINT SA g FHSd SRSl Aed QUIRT
PrISN®T HifeT! SR PRI,

8) THAT AT AR [IeaRT T AT ATl et Teeples YShrgy AaTe.

You are occupying the topmost position in your office. Recently two of your subordinates met

with accidents and suffered minor injuries on their way to office on different occasions. The

leader of their union came to you requesting you to consult a famous vastu expert and make

necessary changes in the office premises and avoid these kinds of evil experiences in the future.

You know the fact that the humanfriendly and eco-sensitive premises are designed by an architect

who has taken care of climatic and geographical conditions of the area. You will

1) Accept his request to consult the expert and save on expenses that incur due to such accidents
in future.

2) Call a meeting of all employees for getting familiar with their attitude towards these things
and assist them in making a sensible decision on this request.

3) Organise a series of workshops for your employees to help them to understand the futility of
such consultations by making them familiar with the facts.

4) Reject this request summarily by telling the person that you don’t believe in such sciences.

wR)

79)

SiENfier Tifreror See UReuT aRAMT Tl 8 aTgdiial SARGIER grelell ITI a1 9esH THtherd
3TGDAT. IT e HYU ST STl 3T 3R &l thetd Jadd aldl. PIIITIed] b Wlef 3Rieted] ST
T FTeAdel! ST 31 & Hedd Jelell UThal SadTd JMasel. Sicgl dHoxl 37T faemeaf=r s sy
BRI ATERA SUIRATST SRl SRiciedT TANTITGaTa [SRUl hefl, tegT THIRY @ehl+ el JRANTaTTe!
AT A1 BT TRl ToBHSIeITERIe FRR ORI IRSHEY Tel. AT chi grarell 3eet ITI el
3T JFRIUMTIT YR JfAUTdl A FHIOTS SRadell. rel;
q) T Udeied] it JHdH <R, FUE Aee ARl HSauariTs! deet dheted Hifie Jfaun
ot e PBletatid g UIRT FARTG.
Q) 3MMTYTH &HTT UTH hedTfar femeai=n JHE et Tt s Ht I HI=IdT X PIa.
3) B SIS 3L SFIHATUTRT DleTed UTH PRUTHGUT el FHRT SISaudriTe! 37fr dterfores
UK R FROTRY |l AHvarrd! e, aiete, sreames SftT e il $o diedre.
8) FIATIATAT 3FcTReh e - AT P HBIUIIIS! aTD R T W IR faemeat

SATER CUIRATS! el axuaTdl 3MeeT ETe.
While inspecting an Industrial Training Institute you found that the building in one housing colony
had a massive board for the I'TI, suggesting that the centre occupied the entire space. When you
stepped inside the institute, you found that it is operating from a one room flat in the corner.
When asked about their office and laboratory that is mandatory for assisting students to get hands-
on experience, the person in charge claimed that the institute has a lab, and guided you to a
scooter garage on the ground floor. This person showed you all certificates of massive
infrastructure that are mandatory for an ideal I'TI. You will
1) Order the institute to take three years to put together the infrastructure they promised at the
time of getting government recognition to avoid suffering of students already admitted.
2) Order de-recognition of the institute to avoid students getting certificates without acquiring
the needed experience based skills.
3) Call a meeting of students, parents, teachers and management to sort out problems related to
acquisition of expected skills and appoint a committee to monitor educational programmes.
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4) Order the management to make arrangements for assisting students immediately for getting
the hands-on experience that they need to get jobs without charging extra fees.

¢o)

80)

grel fafde et mifecht @ U Ge aroRvare v SuIe SEEeR SIuRIT faHETR T
3TET. SR A BTl el Sg3%e b FeTRg il (smartphones) aToR &= 3R-e] TRI o STl
e UM el Jrelersaviiar uRad gIoarIe! T AUbid STIUl AT 3. AT SEuIRaTet!
A ARG SATeATe HaT RauardT faRieTd 3ed. grat areaneft Jeftia @ren gesarcieft aRfud
3TTETA. U1 TRIET Jrel TEIR PH! PRUIRIATS!, T 2Tl g U araquarRiTa! JMfoT alepiT fafder Taseurea
BHIRIT I PRUINAIC! SHell Sellg a1 quarar FYR detell 3. T

q) GAT HEET A ARG T U T 2R MO JMaedd 3Riciell dd el I,

Q) JETPR B ST Haehi<aT JSHSUUITeS ol ST SANTUI=IT JFSaviiared Aagefie el gea

gIATETeATeT AT Hedl el

3) |HI GehiT AUV USIIBRITAT GUeR J(deidd 3Tl d ATl HIdGel AUl T gar 37eft HeT
fATOT SROTIT TRApBTeT oijd! drhle &e.

8) T SFITATND SGh! T qral Gl DTSR U STEEGR AT UMD ST Hadh 70 da
QR T FIIUARIS! Faetefiel e,

You are heading the department that is responsible for taking decisions concerned with employing

Information and Communications Technology for various purposes. Though most of your

subordinates use smartphones, they are against providing online services to general public under

the pretext that they should be in touch with them to be familiar with their problems as public

servants. You are familiar with their excuses related to this but you are determined to give online

public services to reduce corruption, save energy and money, and relieve people from different

kinds of harassment. You will

1) Make all needed arrangements related to your goals without considering the opinions of your
subordinates.

2) Take the initiative for assisting your subordinates to get sensitized with the difficulties faced
by public at large due to the indifferent attitude of public servants.

3) Start giving memos when these office bearers make laypersons feel that they are at their mercy
and make them pay for this.

4) With the help of several informal meetings with your subordinates, make efforts to form an
association to provide services as a responsible and honest public servant.
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